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1. What is the value of 5! (5 factorial)?
A. 60

B. 120
C. 100
D. 150

2. What term is used for the distance from the center of a
circle to its circumference?

A. Diameter
B. Chord
C. Radius

D. Circumference

3. What is the greatest common factor (GCF) of 12 and 16?
A. 2

B.3
C.4
D. 6

4. What type of sequence is formed by adding or subtracting
the same number to the previous term?

A. Geometric sequence
B. Arithmetic sequence
C. Variable expression
D. Numerical expression

5. What is the value of the expression 2°3 + 4?
A. 10

B. 12
C.14
D. 16
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6. What is the correct order of operations when simplifying a
numerical expression?

A. Addition, Multiplication, Exponents, Grouping Symbols

B. Grouping Symbols, Exponents, Multiplication and Division,
Addition and Subtraction

C. Multiplication, Grouping Symbols, Addition, Exponents
D. Exponents, Addition, Grouping Symbols, Multiplication

7. What is the reciprocal of a number?
A. The same number
B. A number that makes the product equal to zero

C. A number that, when multiplied with the original number,
results in one

D. A number that cannot be expressed as a fraction

8. Which type of number can be expressed as a ratio of two
integers?

A. Whole number

B. Irrational number
C. Rational number
D. Complex number

9. What type of rate has a denominator of 1?
A. Proportion
B. Unit rate
C. Ratio

D. Average rate

10. How many days are in 3 weeks?
A. 14 days
B. 21 days
C. 28 days
D. 30 days
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1. What is the value of 5! (5 factorial)?
A. 60
B. 120

C. 100
D. 150

To find the value of 5!, we need to understand what the factorial function means. The
factorial of a non-negative integer n, denoted as n!, is the product of all positive integers
from 1 to n. For 5!, we calculate it as follows: 53! =5 x 4 x 3 x 2 x 1 Breaking this down
step-by-step: - First, multiply 5 and 4: 5 x 4 = 20 - Next, take that result and multiply
by 3: 20 x 3 =60 - Then, multiply by 2: 60 x 2 = 120 - Finally, multiply by 1 (which
does not change the value): 120 x 1 = 120 Therefore, the complete calculation shows
that 5! equals 120. This value reflects the total number of ways to arrange 5 distinct
objects, and that is why the answer is indeed 120.

2. What term is used for the distance from the center of a
circle to its circumference?

A. Diameter

B. Chord

C. Radius

D. Circumference

The term used for the distance from the center of a circle to its circumference is the
radius. This measurement is significant because it provides a fundamental understanding
of the circle's structure and properties. The radius is half the distance of the diameter,
which stretches from one side of the circle to the other, passing directly through the
center. Recognizing the radius is essential in various mathematical calculations, such as
finding the area or the circumference of a circle. In geometric terms, the radius
remains a constant value for any given circle, making it an important parameter in
identifying the size and scale of the circle being referenced. Understanding this concept
is crucial for solving problems related to circles in mathematics.

3. What is the greatest common factor (GCF) of 12 and 16?
A. 2
B.3
C.4
D. 6

To find the greatest common factor (GCF) of 12 and 16, we begin by determining the
factors of each number. The factors of 12 are: 1, 2, 3, 4, 6, 12 The factors of 16 are: 1, 2,
4, 8, 16 Next, we identify the common factors between the two sets: The common factors
of 12 and 16 are 1, 2, and 4. Now, among these common factors, the greatest one is 4.
Therefore, 4 is the largest number that divides both 12 and 16 without leaving a

remainder, making it the greatest common factor. Hence, the greatest common factor of
12 and 16 is 4.
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4. What type of sequence is formed by adding or subtracting
the same number to the previous term?

A. Geometric sequence

B. Arithmetic sequence
C. Variable expression

D. Numerical expression

The sequence formed by adding or subtracting the same number to the previous term is
known as an arithmetic sequence. In an arithmetic sequence, the difference between
consecutive terms remains constant, which is referred to as the common difference. For
example, if you start with the number 2 and consistently add 3, the resulting sequence
would be 2, 5, 8, 11, and so on, demonstrating the consistent addition of 3. In contrast, a
geometric sequence involves multiplying or dividing by the same number to produce the
next term, which leads to exponential growth or decay rather than a steady incremental
change. Variable and numerical expressions are not types of sequences but rather
represent forms of mathematical expressions with variables and numbers, respectively.
Therefore, the classification of a sequence that operates through addition or subtraction
of a constant aligns perfectly with the definition of an arithmetic sequence.

5. What is the value of the expression 2°3 + 4?
A. 10
B.12

C.14
D. 16

To solve the expression \(273 + 4\), we first need to evaluate \(2"3\). The expression
\(273\) means 2 multiplied by itself three times: \[ 2 \times 2 \times 2 = 8 \] Next, we
add 4 to this result: \[ 8 + 4 = 12\] So, the value of the expression is 12. This confirms
that the correct answer is the option that states 12. Each step in the calculation directly
contributes to arriving at the final answer. The evaluation of \(2~3\) is critical, as it
establishes the first part of the expression, and the subsequent addition of 4 completes
the computation effectively.
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6. What is the correct order of operations when simplifying a
numerical expression?

A. Addition, Multiplication, Exponents, Grouping Symbols

B. Grouping Symbols, Exponents, Multiplication and Division,
Addition and Subtraction

C. Multiplication, Grouping Symbols, Addition, Exponents
D. Exponents, Addition, Grouping Symbols, Multiplication

The correct order of operations is essential for accurately simplifying numerical
expressions and solving mathematical problems. The widely accepted sequence is: first,
handle operations inside grouping symbols (like parentheses), then evaluate exponents,
followed by performing multiplication and division from left to right, and finally
addressing addition and subtraction also from left to right. In this context, starting with
grouping symbols ensures you deal with the most crucial parts of the expression that may
affect all subsequent calculations. After that, evaluating exponents allows you to simplify
powers before introducing multiplication or division, which operates at the same level of
priority, followed by addition and subtraction, which are the last operations to be
resolved. This order ensures consistency and correctness in mathematical reasoning.
Therefore, the sequence of Grouping Symbols, Exponents, Multiplication and Division,
Addition and Subtraction accurately reflects the standardized procedure used in
mathematics to avoid ambiguity in calculations.

7. What is the reciprocal of a number?
A. The same number
B. A number that makes the product equal to zero

C. A number that, when multiplied with the original number,
results in one

D. A number that cannot be expressed as a fraction

The reciprocal of a number is defined as a value that, when multiplied by the original
number, yields a product of one. This concept is fundamental in mathematics, especially
in operations involving fractions and ratios. For example, the reciprocal of 2 is 1/2,
because 2 multiplied by 1/2 equals 1. This property is essential for simplifying fractions,
solving equations, and performing operations involving division. The other options do
not accurately describe the reciprocal: - One option describes the same number, which is
not how reciprocals work. The reciprocal must be a different number that facilitates the
multiplication to one. - Another option talks about a number that results in zero when
multiplied with the original number, which doesn't relate to reciprocals at all. - A final
option states that a reciprocal cannot be expressed as a fraction, contradicting the very
nature of reciprocals, as they are often represented in fractional form. Understanding
that the reciprocal's defining characteristic is the ability to multiply to one is key in
grasping more complex mathematical concepts.
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8. Which type of number can be expressed as a ratio of two
integers?

A. Whole number

B. Irrational number
C. Rational number
D. Complex number

Rational numbers are defined as numbers that can be expressed as the quotient or ratio
of two integers, where the denominator is not zero. This means that any number that can
be put in the form of \( \frac{a}{b} \), with \( a\) and \( b \) being integers and \( b \neq 0
\), qualifies as a rational number. For example, the number 3 can be represented as \(
\frac{3}{1} \), and the number 0.5 can be expressed as \( \frac{1}{2} \). Rational
numbers include integers, fractions, and finite or repeating decimals. In contrast, whole
numbers are a subset of integers that do not include negative numbers or fractions, while
irrational numbers cannot be expressed as the ratio of two integers; they have
non-repeating, non-terminating decimal expansions (like \( \sqrt{2} \) or \( \pi \)).
Complex numbers involve both a real and an imaginary part, generally expressed in the
form \( a + bi\), where \( a\) and \( b)) are real numbers, and \( i) is the imaginary unit,
again not fitting the definition of a ratio of two integers

9. What type of rate has a denominator of 1?
A. Proportion
B. Unit rate
C. Ratio
D. Average rate

A unit rate is defined as a rate that has a denominator of 1, meaning it expresses how
much of one quantity corresponds to one unit of another quantity. For example, if you
have a speed of 60 miles per hour, this is a unit rate because it tells you how many miles
are traveled in one hour. Unit rates are often used to simplify comparisons between
different rates, making it easier to understand the cost per item, speed per hour, or any
other measurement where expressing a quantity in terms of one unit provides clarity. The
concept of a unit rate is foundational in mathematics, especially in solving real-world
problems related to proportions, ratios, and averages. In contrast, other options like
proportion, ratio, and average rate do not strictly adhere to this definition. A proportion
compares two quantities, a ratio expresses the relationship between two numbers, and an
average rate typically involves summing multiple rates over a period rather than
expressing one specific rate in terms of a denominator of one.

10. How many days are in 3 weeks?
A. 14 days

B. 21 days
C. 28 days

D. 30 days

To determine how many days are in 3 weeks, it's essential to know the number of days in
one week. There are 7 days in one week. Therefore, to find the total number of days in 3
weeks, you multiply the number of weeks by the number of days in a week: 3 weeks x 7
days/week = 21 days. This calculation clearly shows that in 3 weeks, there are 21 days.
This understanding of weeks and days directly supports the answer provided.
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